
SAP Certified Application Associate - 
Production Planning & Manufacturing with SAP 

ERP 6.0 EHP7
SAP C_TSCM42_67

Version Demo

Total Demo Questions: 10

Total Premium Questions: 106

Buy Premium PDF

https://dumpsarena.com

sales@dumpsarena.com

https://dumpsarena.com/exam/c-tscm42-67/
https://dumpsarena.com/exam/c-tscm42-67/
https://dumpsarena.com/
mailto:sales@dumpsarena.com


DumpsArena - Pass Your Next Certification Exam Fast!
dumpsarena.com

   

QUESTION NO: 1

Which of the following organizational efforts can be minimized using the KANBAN procedure?

A. Effort for material staging

B. Effort for capacity planning

C. Effort for Sales and Operations Planning (SOP)

D. Effort for master data maintenance

ANSWER: A 

QUESTION NO: 2

When maintaining a work center, formulas can be assigned in the scheduling view. Formulas use formula parameters for 
calculation. What can be the origin of the formula parameters used for scheduling? (Choose three.)

A. General values from work scheduling view in the material master

B. Standard value from operation in task list

C. User-defined field from operation in task list

D. General operation values in task list

E. General item values in bill of materials

ANSWER: B C D 

QUESTION NO: 3

The company you advise wants to carry out the material availability check automatically in the production order at various 
points in time. Which of the following options would you recommend? (Choose two.)

A. Goods receipt for the product produced with the order

B. Creation of the production order

C. Confirmation of the operation that the materials being checked are assigned to

D. Release of the production order
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E. Goods receipt for a missing part

ANSWER: B D 

QUESTION NO: 4

Where can you define the valid receivers for production order costs?

A. In the costing variant

B. In the settlement profile

C. In the valuation variant

D. In the production scheduling profile

ANSWER: B 

QUESTION NO: 5

The stock/requirements list for a finished product contains only one sales order and one fixed planned order with the same 
quantity. The availability dates for both MRP elements are on working days. The availability date for the fixed planned order 
is set to a later date than the one for the sales order.

However, a corresponding rescheduling exception message does not appear. What could be the reasons? (Choose two)

A. The delta between the availability dates falls within the tolerance window defined in Customizing.

B. The fixed planned order is outside the rescheduling horizon.

C. Requirements planning has not been carried out.

D. The MRP elements are linked via fixed pegging.

ANSWER: A B 

QUESTION NO: 6

Which of the following statements best defines SAP ERP?

A. SAP ERP is an application that supports all processes involving direct customer contact throughout the entire customer 
relationship life cycle.
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B. SAP ERP is an application that a company can use to manage its business processes efficiently.

C. SAP ERP is a system in which advanced planning and optimization processes can be mapped.

D. SAP ERP is a system hardware that includes components such as Purchasing, Sales and Distribution, Materials 
Management, and Production.

ANSWER: B 

QUESTION NO: 7

In which master data object do you set the standard values for an operation?

A. Material Master

B. Work Center

C. Routing

D. Production Resource/Tool (PRT)

ANSWER: C 

QUESTION NO: 8

What could be a consequence of confirming an operation?

A. The planned costs are updated

B. The capacity requirements are updated

C. The production order is rescheduled

D. The actual costs are settled

ANSWER: B 

QUESTION NO: 9

You want to produce a finished product only when it is requested by a customer order in make-to-order production. However, 
all assemblies need to be procured beforehand.

How can you fulfill these requirements in SAP ECC? (Choose two)
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A. Use strategy 50 (planning without final assembly) for the finished product and no strategy for all assemblies in the bill of 
material.

B. Use strategy 30 (production by lots) for the finished product and strategy 70 (planning at the assembly level) for all 
assemblies in the bill of material.

C. Use strategy 20 (make-to-order production) for the finished product and strategy 70 (planning at the assembly level) for all 
assemblies in the bill of material.

D. Use strategy 40 (planning with final assembly) for the finished product and strategy 70 (planning at the assembly level) for 
all assemblies in the bill of material.

ANSWER: A C 

QUESTION NO: 10

Which of the following are properties of ECC Multi-Site Planning? (Choose two.)

A. Both withdrawal from alternative plant and withdrawal from another plant are defined via special procurement keys.

B. The use of scope of planning (cross-plant total planning) is mandatory for Multi-Site Planning.

C. When using one-step stock transfer posting, transfer stock is created in the receiving plant.

D. When using two-step stock transport order with delivery, the receiving plant is defined as a customer.

ANSWER: A D 
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